
In =
Z

¼
4

0
tann xdx (n = 0; 1; 2;Ý)とおく.

(1) 　 I0，I1，I2，I3 をそれぞれ求めよ．

(2) 　 In+2 を n，In を用いて表せ．

(3) 　 I4，I5 をそれぞれ求めよ．

É解答例 Ê

(1) 　 I0 =
Z

¼
4

0
dx = ¼

4

I1 =
Z

¼
4

0
tanxdx =

Z

¼
4

0

sinx
cosx dx= �¡ log cosx „ ¼4

0
= ¡ log

1
B

2

=
1
2
log 2

I2 =
Z

¼
4

0
tan2 xdx =

Z

¼
4

0
# 1
cos2 x

¡ 1;dx = � tanx¡ x„ ¼4
0
= 1¡

¼
4

I3 =
Z

¼
4

0
tan3 xdx =

Z

¼
4

0
tanx tan2 xdx =

Z

¼
4

0
tanx# 1

cos2 x
¡ 1;dx

=

Z

¼
4

0
# 1
cos2 x

¢ tanx¡ tanx;dx = � 1
2
tan2 x„ ¼4

0
¡I1

=
1
2
¡
1
2
log 2

(2) 　 In+2 =
Z

¼
4

0
tann+2 xdx =

Z

¼
4

0
tann x tan2 xdx =

Z

¼
4

0
tann x# 1

cos2 x
¡ 1;dx

=

Z

¼
4

0
# 1
cos2 x

¢ tann x¡ tann x;dx = � 1
n + 1 tan

n+1 x„ ¼4
0
¡In

よって In+2 =
1
n+ 1

¡ In

(3) 　 I4 =
1
3
¡ I2 =

1
3
¡ #1¡ ¼

4
; = ¼

4
¡
2
3

I5 =
1
4
¡ I3 =

1
4
¡ # 1

2
¡
1
2
log 2; = 1

2
log 2¡

1
4






































